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3        4

1        0
0        1

𝐺𝑎𝑢𝑠𝑠 − 𝐽𝑜𝑟𝑑𝑎𝑛 𝑀𝑒𝑡ℎ𝑜𝑑

1     2
3     4

𝐴 =

1        2
0   − 2

   1       0
−3       1 𝑟ଶ − 3𝑟ଵ

1        0
0   − 2

−2       1
−3       1

𝑟ଵ + 𝑟ଶ

𝑟ଶ × −
1
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1        0
0        1
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1

2
⎯⎯

Identity Matrix

Identity Matrix

𝐴ିଵ

Multiply the Inverse of a system's 
left hand side by the right hand 
size to solve the system.

May not have an inverse ie:

𝐴𝑋 = 𝐵     ;      𝑋 = 𝐴ିଵ𝐵

1     1
1     1

Inverse Matrix

1     2
3     4

𝐴 =

𝐴ିଵ =

𝑎        𝑏
𝑐        𝑑𝐴 =

𝐴ିଵ =

𝐴 · 𝐴ିଵ =

𝑑         𝑏
𝑐         𝑎𝑠𝑤𝑖𝑡𝑐ℎ 𝑎 & 𝑑

   𝑑   − 𝑏
−𝑐        𝑎

𝑏 & 𝑐 𝑐ℎ𝑎𝑛𝑔𝑒
𝑠𝑖𝑔𝑛

𝐷 = 𝑎𝑑 − 𝑏𝑐 ≠ 0 𝐷 = 𝑎𝑑 − 𝑏𝑐
𝐷 = 1 × 4 − 2 × 3
𝐷 = −2

1      2
3      4

4       2
3       1

   4 − 2
−3      1

 −2         1
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2
⎯⎯

−
𝑐

𝐷
⎯⎯       

𝑎

𝐷
⎯⎯

−
𝑐

𝐷
⎯⎯       

𝑎

𝐷
⎯⎯

𝐷𝑖𝑣𝑖𝑑𝑒 𝑏𝑦 𝐷

 −2         1

−
3

2
⎯⎯    −

1

2
⎯⎯

1     2
3     4

 −2         1

    
3

2
⎯⎯    −

1

2
⎯⎯

1 × −2 + 2 ×
3

2
⎯⎯    1 × 1 + 2 × −

1

2
⎯⎯

3 × −2 + 4 ×
3

2
⎯⎯    3 × 1 + 4 × −

1

2
⎯⎯

1     0
0     1=

𝐷 = Determinant

𝐴 · 𝐴ିଵ = 𝐴ିଵ · 𝐴 = 𝐼
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